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Check the important words and phrases used in the session and what they mean.
You can also use the read-aloud voice on the website to check your pronunciation.

f V Words & Phrases &R )
[] 1. renewable energy BERRIRIVF —
[J 2. sustainable e AT RE7R
[] 3. global warming HER R AR AL
[] 4. greenhouse effect imENR
[] 5. infrared light GINAN G
[] 6. fossil fuel (®=p =
[J 7. Industrial Revolution EXFan (B ELoHkE)
[] 8. time constant RFE 2L
[] 9. mitigate ~EMSIF5. LT3
[]10.transition BT, R
[J11.vending machine EENETRLE
[J12. solar power generation KIGHEFHE
[J13.wind power generation R N3HE
[ 14. gas-fired power generation HAKNFHEE
[J15.COz emission “EfbixZRHE ()
[]16.solar panel KEEtR, V—7—/\)
[]17.0on-site W[5 T, WHOD
[]18.battery Ny TFU— &b
[]19.emerging HicICEL . FED

L []20.hydrogen K== )
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The followings are questions based on the contents of the session. Watch the
session and answer each question.

[ 1] Explain the benefits and problems of renewable energy.
-

Benefits

Problems

[2] Give an example of renewable energy and explain how it works.
P




[ 3] Do you have any ideas on how to increase the demand for renewable energy?

'
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[ 1] The following is the summary passage of the session. Write down the appropriate
words in the following blanks of the passage. You may use the same words for
several blanks.

One of the main causes of global warming is the use of ( )
( ). The use of fossil fuels ( ) a large amount of
CO:. The use of fossil fuels started after the Industrial Revolution, and
we have consumed large amounts of fossil fuels for about a hundred years.
Fossil fuels, on the other hand, have been produced over billions of years,
resulting in a huge ( ) in time constants for the production
and the consumption of fossil fuels. In order to solve this problem of the
( ) in time constants and ( ) global warming,
we need a ( ) of our energy sources from fossil fuels to
renewable energy sources that emit no ( ). Solar power
and wind power are the main ( ) energy sources, but they
account for only ( ) percent of Japan’s electricity
generation or power supply. In addition, we cannot ( )
power generation by either solar or wind power, and other
adjustable power supplies are needed to ( ) the gap
between the demand for electricity and renewable power generation.
At present, we have to rely on ( ) ( ) for this
after all, and so it is difficult to reduce CO: ( ). Forthis reason,
we need new ways to increase renewable energy generation, and

solar panels and the use of ( ) are good solutions.



[2] Write down what you learned through today’s session.
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